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Uc(t)=10(1-exp(-0.1t))-                                                                  -   Uc(t)=10exp(-0.1t)  
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i(t)=0.2exp(-0.1t) 

  

 

 

 

 

 

 

 

i(t)=-0.2exp(-0.1t)- 
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NA= 6666,022022022022 ×××× 1010101023232323 mol-1111    

mn ==== 1111,674929674929674929674929 ×××× 10101010−27−27−27−27 kg 

F ==== 96485964859648596485 C 

eV ==== 1111,60606060 ×××× 10101010−19−19−19−19 J 

c ==== 299792458299792458299792458299792458 m.s-1 

c ==== 3,003,003,003,00 ××××10101010 8888 m.s-1  

e ==== 1111,60606060 ×××× 10101010−19−19−19−19 C 

Vm ==== 22222222,4444 L.mol−1−1−1−1 

g = 9999,81818181 m.s−2−2−2−2                                                 
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